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WRITTEN PRACTICE ANSWERS

1 about 4 pounds

2 $3.40

3 150 marbles

4 0.5;   1 __ 
2
 ; 50% 

5 a. 5 plums

b. 15 plums

6 12 − 9 = 3

7 =

8 B

9 18

10 D 

11 4  2 __ 
5
 

12 4  1 __ 
2
 

13 5

14 8

15 
2 __ 
5
 

16 2

17 7.47

18 $2.69 

19 $5.60

20 421,200

21 31 R 9

22 78

23 
9 ___ 

12
 ;   2 ___ 

12
 ;   11 ___ 

12
 

24 a.  3 cm 

 b. 10 cm

 c.  6 sq. cm 

25 a. E

E

, ,E

 b. 4

 c. rotation

26 a.  about 15 times 

 b. 25%

 c. 0.5

27 1896

28 8 students; sample: I used 
compatible numbers; since 
31 is close to 32 and 32 is 
divisible by 4, a reasonable 
estimate is 32 ÷ 4, or 8 
students.

Lesson 93

Saxon Math Intermediate 5 371 © Harcourt Achieve Inc. and Stephen Hake. All rights reserved.



T
h

is
 p

a
g

e
 m

a
y
 n

o
t 

b
e
 r

e
p

ro
d

u
c
e
d

 w
it
h

o
u

t 
p

e
rm

is
s
io

n
 o

f 
H

a
rc

o
u

rt
 A

c
h

ie
v
e
 I
n

c
.

WRITTEN PRACTICE ANSWERS

29 Sample: about 250 years 
ago; 2000 − 1750 = 250

30 Enter 10,000 and press 
the square root key; 100 
meters.   

Early Finishers:

 See student work. 
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